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UNIVERSITY OF NORTH BENGAL
B.A. Programme 2nd Semester Examination, 2019

DSC2-PHILOSOPHY

Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word
All symbols are of usual significance.

limit as practicable.

SECTION-I / fiem- / @vs -&

1. Answer any four questions from the following: 3x4=12

=T @@= siaft evra Teawes
fegue seEeeTsl G JRICI SR ARy
(2) What do you mean by copula? What is the function of copula?
SRIATEE 700 6 QR 9 SRINECE 1% & ¢
e T B IS ¢ Gaeddl Bl B 8 7
(b) Obvert the following: 1
e e RafEe mt ves 2
Rr=ferfag o faada T :
(i) Roses are red.
e = Al
TETEES WAl O |
(ii) Only children are happy.
e fireaz 73
Faw e gl o7 |
(c) Distinguish between mediate and immediate inference.
ST A SR AR T I e |
e S AT A AT P SR |
(d) Distinguish between ‘mood’ and ‘figure’.
S g AR W0 A (AN
T 3w HTE e Erege |
(¢) When an argument is valid?
=T P T4 LT P
J@ sfge 3y 388 ?
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(f) What are the two senses of ‘or'?
R v wd b Ry
T B giaer arad @ B g ?

SECTION-II / faw-¢ / @ve-a

2. Answer any four questions from the following: 6x4 =24

RefRe @ srafd eionn Ben whes
Revsr vegess Y IRTED! IR AQIE ¢
(a) What do you mean by ‘distribation of terms’? What term/terms are
distributed /undistributed in ‘A’, ‘E’, ‘I’ and ‘O’ propositions?
TR TIOTS! TS FF @RIT 9 “A”, B, ‘I @R “O’ -6 GI 9fR 2y / il Seard
2
TR T P RS ¢ (A, B, T af ‘o wRiefkesar B
9T /ygEs faaRa /sfaaiRa 69 ?
(b) Explain ‘Contrary’ and ‘Contradictory’ opposition of propositions with example. 3+3
Rire o Reem [ReaifEot Srigae 2 i 31
ol ¥ Reg wfosfiaswe! demEer e T4eN |
(c) Explain in brief the fallacy of Illicit Minor and Illicit Major with examples. 3+3
FRTH! TR 2PRTRIR G, SHF4 ST CALReriR Tt 911
¥y TRENY 3 oY RIS WiGwERY W @re THEY |
(d) Determine the validity or invalidity of the following arguments with the help of 3+3
Venn diagram:
coAboaz A FEEe Jfeafer (3re WAl wtare Rem F3s
¥ weraTgN Frfafad qaged! e ¥ e AR THEN |
(i) EAO 4th Figure
EAO- 594 g+
EAO —4th Figure
(ii) OAO 2nd Figure.
OAO- fadm e |
OAO -2nd Figure.
(e) What is ‘Conversion’? Why conversion of ‘O’ proposition is not possible? 244
GG BN A0 7 ‘O ABTAA WG A T (T ¢
It B B ? A 0’ sRefRye) s W 99 ?
(f) Distinguish between Deductive and Inductive arguments with example,
THIZAIHZ TRTAZ 6 WITAIE WNITA T #H1] (e |
SRR ‘AT A AR A A dwege |

2+4
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SECTION-III / fRste-9t / @us-1

Answer any two questions from the following 12x2 =24

e ca-caiw 7P etz Tea we

3. Determine the validity or invalidity of the following argument/argument forms PR
with the help of syllogistic rules:

ﬁmwmmﬁaﬁﬂ@ﬁ/vﬂ%—wm@uw«mﬁmws

PRt Prawer wera gR1 Res! oF ¥ qe-wuewer e ¥ anar fefor
TN |

(a) Shyam is mortal because he is a man.

T e, FRe G T

W W B a9 wif @)
(b) He must be happy for he is honest.

G SRR R ARy 1 R |

FIFER qUPRI T G §AHIO |
(¢) AAIlin 1st Figure

AAL -89 TEN|

AAI -39 | B |
(d) AIE in 3rd Figure.

AIE-98R >RE|

AIE-THY e 81 |

4. Use Truth table to determine the validity or invalidity of the following arguments: 3x4 =12

we)-Aad A e gieafm el / et ko w4
fagueT qaEwe! duar a1 ordvar wiieT Fea—wRelie! WA TN —

(a) ~A>~B
~BoC/ . ~(A-~C)

(b) Mo (N-0)
~M /.. ~(N-0)

(©) poq
q/.:p

(d) Either Ramesh is a doctor or a teacher. He is not a doctor, therefore, he is a
teacher.

T SIS IR SRR A | (SIS W, AN ¢ P
e TFex U € Fera R UfY €11 € SR B, @ S Rme

2076
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ical
What is existential import of proposition? Does all standard form of categorl
propositions have existential import? Explain with examples.
WWW’NWﬁM?WﬁMWWWﬁm
T ¢ Trgemre et 31

R s el @ 8 7 B wd A SuEed) AR e ded

§O ? SeERV wika s Te |

What is an analogical argument? What are the different criteria in the appraisal of
analogical argument?

T 3 210 R QRIN ¢ Fprers I et e el & 7 2
WEEEES e WS D RS ? GQeEEd  JResl eagdd T
HAHEUSE® B- § 7

X

2+10

2+10
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UNIVERSITY OF NORTH BENGAL

B.A. Programme 2nd Semester Examination, 2{}3_[1

DSC2-PHILOSOPHY

LoOGIC

ASSIGNMENT

The questions are of equal value.
The figures in the margin indicate full marks.

Prepare Assignments on any three from the following within 800 words
800 ¥l # fr=farfag & 9§ 5l 9 R g ie TR @Iy

fefele fRgref@ @t @-@R 69/5-3 To9 voo *taa W7 SHAIZAD
o ¥4

ot fesuar yeewaedl dadl diFdac] Yeiend! TR 800 Y& A&

1. Define Proposition. Classify propositions according to quality and quantity
taken together with example of each.

qeardy & IRAIRT & | IAE S I & F12, 01 3R gREmT &
IR dHdTdd B afiHpa N |
IB0a W@l (@14 @9 8 Afasiets fofare vt @fiFeis F9 ¢ TSwizad we)

THATFIH] GRATIT & Bl ? FADhD! STexT A o7 JfH aRAmT sgar
qEaTTE g TR

2 Discuss Traditional square of Opposition with example.
ARTTd faRveraif &1 Serervrfed =t By |
Trrzaeiz a0 Rty Sgr@d i F41
TR RN gafer wWreTexor |t THE |

3. Write about Categorical syllogism and its features.
foxer =g ar9 iR sud) fAdwamet & ar # ford |
feresr < @ o tafiEy S 41
foRYer < arqm Y T fAYyaEs IR F9f THEN |

2076 1
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Transforms are following arguments into standard form and test their validity
by means of Venn-diagram.

(1) EAO — 4" Figure
(ii) AEE — 3" Figure
(1) ETO — 4™ Figure
(1iv) He must be happy for he is honest.

ﬁwﬁlﬁaﬁgﬁaﬁaﬁwwﬁqﬁaﬁhﬁmaﬁ?aﬂmﬁﬁﬁ
s | Quar H S P

(1) EAQ — = smepfey

(i) AEE — g anafa

(iii) E1O — <o 3ngfa

(iv) 98 G BT AN, FifH 98 IHHER B |

53 Feefns T wIE #fds 3@ by o [wel fd F4:
(¥) EAO — g9 &4

(¥) AEE — $O1 RZH

(s) EIO — 594 %4

(9) 1 o012 3R @A (T @ AR

frfafiad QRPETEE AMG ATHRAT TRadT T8 94 Y@= A
TAHT dgar i g THEN |

(i) EAO — difeii aepfar
(ii) AEE — e 3mgpfer
(iii) EIO — difelT 3mpfa
(iv) & g g, fFT9 $9HeR B |

Distinguish between Deductive and Inductive argument with examples.
ISR B A PSSR AFTHAIS ad1 & 4 3R BT |

TwlEgeTE WICAIE @ SR Ied wey sl e
RRTAETETE I ANTHATHS dHeed! drad! 38 |IGERY g9 T{ery |

Write down the criterion for appraise in analogical argument.
AR Yfaadt @ qedied & Ares @ ar H ford |
R I TErTa Maneefe A el #41

AR YfAEsd! JeaTg TRA AHRES dR od el |

x
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e
UNIVERSITY OF NORTH BENGAL
B.A. Programme 2nd Semester Examination, 2021

DSC2-PHILOSOPHY

P C C - WESTERN LOGIC

5 . il 4 Full Marks: 60
- =" ¥ < (\/\\_

ez A ASSIGNMENT

The questions are of equal value.
The figures in the margin indicate full marks.

Prepare Assignments on any three of the following within 800 words each 20x3 =60
frfafee faarefa @ @-@R Gaft-1 T941 voo =Twa 00 SHAIZATIS
ed F4
B Classify propositions according to quality, quantity and quality and quantity 10

taken together. Give examples of each.

@, Afamd 2 @d ¢ #fEeE @Y A e ETReE R @A ¢ efefba
Trizgd =141 z

(b) /Explain ‘distribution of terms” and show which terms are distributed in A, E, 10
I, O propositions with example.

‘o APel 9ere fF @R 2 A, E, 18 O I/0E @ @ oW 17 =€)

\2);/ Distinguish between mediate and immediate inference with examples. 6
THZAIE W 6 TG TR W& A (418 |
(b) Explain different rules of Conversion with examples. 8

HRee [fen fawefs Twzadz SiE b 3491

(c) Distinguish between simple conversion and conversion by limitation with 6
examples. e

Yae @ e SReEa S Sugaz AdFrafe Sree #4)

3 \(})’ Use truth tables to determine the following statement forms as tautology, self- 3+5=10
contradictory or contingent:

TeiRda A fEfRe warrRefa To: O, Fo:fIyg ¢ sfafisarre

fadfa #2: s
() (p=~a)=(~p=g)— %:f':f/ ) S
(i) (p-~q)v(p-q) sefin P o | ~4] Pl (P09 w v (P
T '1‘1 FlF f’r’f‘ E'x—u).h { q')
2076 1l F4&T IR Y E




UG!CBCSIB.A.fProgrammennd Sem./Philosophy/PHIDSC2/2021

(b) Use truth tables to determine the validity of the following arguments:
TR SR e yRref tare Ror a4

(1) No Republicans are Democrats, so some Democrats are wealthy men,
simce some wealthy men are not Republicans

RN eETIfiF T3 i | Fear Fow Helfis 2 43, @A Fo
ﬁ%ﬁmﬁm ,50
@ (v pa) 5B 5y oo

(pvq)! o (p-~q) ®

4. Explain traditional square of opposition of proposition with examples.
IR Reaifder e sgrmle Sarzgepiz S 941

5. (a) Transform the following arguments into standard form and test their validity
by means of Venn diagram:

fsfive Ifeefns seRemrene st ceafbtan i @yel [{o| 3¢

(1) Some children are not considerate, since all children are egoist and no
egoist are considerate.

TeF Me 7Y [ass, @ad 79 e 27 9@l R @I SRFE e
v =71
(i) EAO-2" figure
« EAO-faor ===+

(b) Transform the following into standard form and prove the validity by means
of syllogistic rule:

e o s fasfafe feefer taee Rom s4:
(i) AEE-4"figure

AEE-599 %%+
(iiOAO-1% figure

OAO-&T FHE

L

6. Define analogical argument. .Dcscribe the different criteria for the appraisal of

analogical argument.
o 3z el @i | ol I JeReR Rie Afmeieef sEna w9

—_—

2076

5+5=10

20

5:5=10

5#5=10

5+15=20



UG;‘CBCS!B.AJProgrammeIan Scm.fl’hilusoplly!PHIDSCZﬂﬂZZ

ol v ot
UNIVERSITY OF NORTH BENGAL

B.A. Programme 2nd Semester Examination, 2022

DSC1/2-P2-PHILOSOPHY

Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.
All symbols are of usual significance.

SECTION-I / feett-& / @vs-&
L. Answer any four questions from the following: 3x4 =12
fHfefad § & fo=dl @R ueHl & SR Y -
ffeie @-@W oafe et Ted wes

TAPT B ARAC] J¥TEwHd! SR [Sere;

(a) Distinguish between mood and figure. 3
el Ud AMPHfa A iR W BT |
& @ T T AL @
Fraeer A TPy AR FwTar SENIEN |

(b) When is an argument invalid? 3
Afed Hq 339 Bl ® ?
T 93ih If& WY W ?
Ifth e AU gD ?

(c) What is the difference between sentence and proposition? 3
ar@ Ud dd-arad H a1 AR € ?
1% @ aia Wey 2N & - ol fadfy w31
TR X dD-aT@ATH b AT B ?

(d) What is a class? 3
it § @ arad @ ?
I PICF I 2
it o= @ g ?

2076 .
um Over
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() What is obversion?

uftads @« ard ® 2
2SS wis = p
yfdads @ & ?

() What is syllogism?

aarey’ @1 8 ?
STsrs 01w A TR I W 9
AT HT & 3 ?

SECTION-II / faeti-2 / wve-@
Answer any four questions from the following:
fFfafed § 3 52 ar vy & sw A -
=S @-@1R 5Efp 2iteq Ted we:
deldl & ARACT UeIendl IR [Qgerd:

(a) What is Conversion? What are the rules of Conversion?

Fad= |9 T a9 § ? ad_ B s qar € 2
IS FICE 071 2 o4 faamefs & @ 2
FGd B Bl ? JGAADT (ATHES B B T ?

(b) What do you mean by distribution of terms? What term / terms is / are

distributed in A, E, I and O proposition?

qg &1 e’ ¥ 7 9 & ? A, E, 1 91O d-arad § anfa wm # 2
+(twd YIS A0S & @R ¢ A, E, I, O 0014 I (S 7w i) 2

ug BT @fd 9 @ 3% ? A, E, I, O To-aIaesHl A & g76/g |

(c) Distinguish between deductive and inductive arguments with examples.

frremTerd gfda Td TS gfad d HIGTERYT IR T By |
HITATZ @ SACAE WA N 2N Ao w9
frreTes gfad va SIS gfaad! fTar Satevvrafed sqd TR |

(d) Use truth-table to determine the validity or invalidity of the following

2076

arguments:

Farar |t &1 YA d]a g0 frfalaa gfaadl @ QU vd advar &
faerfzor #forg

sepiaaa A fFafrfe Ffeefm e e wtare! [o[ w4
Ferar arviier SyavgRr frefafd gReesdl dudr X shvar fruwroy
TN |
(i) p>(@>r)
~qls.por

6x4 =24

2+4=6

IH3=6
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~ (ii) If there is fever, then the body becomes hot, but body is not hot, so there
is no fever.

gﬁg&n%_aﬁmﬁqnﬂm.mmwﬂﬂﬁtquﬁ
|

TR G2 T, Srage =7 s 2@, A S T, TS G 2
R TR B W R TR 5| R IR R B, ae Sa 9 |

(¢) Explain in brief, the fallacy of undistributed Middle and Tllicit Major with
example.

mmwﬂv@aﬁﬁmwmwmmaﬂﬁ
BT |

IRUFCH 1] (DI 8 WY AN N0y SRIZACER LI ACEAGA T4
ST FAW U A Q@ AR JEe UG QAH! SRl wied ao e |

() Distinguish between Mediate and Immediate inference.
SINIH U9 Medmf3ia S # ofaR | $ifdg |
TG € SR A WG N 391
STIRTTAM UaH R A fear W dwsgEN |

SECTION-III / fqert-9t / @oe-1
3. Answer any fwe questions from the following:
frfafaa geai d 4 fF=1 <1 & I QR -
fsfERe @-@F §f6 area Teq was

(a) Determine the validity or invalidity of the following arguments with the help of
Venn diagram:

J9-ameR B geradr ¥ fFr=fafed gfea & duar wd sduar &1 feiRor
Py :
o+ foraa AR 3ol T witagel [{o1g F92
A9-AHRD) GeRagRl F=fiaRad gReesa! ud t@q s[duda Ruivo
e |
(i) AAA-1st figure
AAA-9IH IATHT
AAA-2S FHEH
AAA-9ZH T
(ii) TAI-3rd figure
IAL-gfa sigpfa
[AL-9O FEH
IAL-gea gfa

(i) BOCARDO.

2076 3

3+3=6

12x2 =24

4x3 =12

Turn Over
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(b) Explain the traditional square of opposition of propositions with example.

THATF B WERATT A7 B WaTERvT AR B |
WA Reaifgera (square of opposition) GHTH Twizared A SIEnal F41
TSRS GRRTTT fAR-aifed) Sarexvr afgd e T4 |

(¢) Explain the structure and characteristic of categorical syllogism. What are the

rules of categorical syllogism? Explain.

PRI I @) e @ R @1 qui AR | PR e @
sl &1 avfs ity

s e 199 @ ARy S e w91 A i femefa & 2
)

e ~TIaTRIE GEET g Rewarer vl 78| PR =argareds) FrEE
TGd THEN |

(d) Use truth-table to determine the following statement forms as tautology,

2076

self-contradictory and contingent:

FeIdr AR ) wewdl A Prefaid adardil & gelid, ST R
JaTfad &1 AR B -

TepiEaEe AR fAEEie  wsaeme  Fesie  (tautology), sl
(self-contradictory) 3l W#f$S (contingent) Sl A5 T4

Hogdl arvfie] wermar ford frafefaa aaareaewa! gois, TcH-ATEH!
3t smurfard @ fFRERET TR |

() [(pog)oplog
(i) po[~p>(g-~9)].

12
6+6=12
6+6=12
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UNIVERS]TY OF NORTH BENGAL
B.A. Programme 2nd Semester Examination, 2023

DSC1/2-P2-PHILOSOPHY
Time Allotted: 2 Hours

The figures in the margin indicate full marks.

SECTION-I / faeii-3 / GUS-&

1. Answer any four questions from the following:

e @-w 5138 etz eg mes
1 IR THT IR R

(a) What is existential fallacy? Explain with example.
FGE 71 To10e & @RI 2 Briggeiz it 391
HRTTAR] ST P & ? ISRV AREAT TR |

(b) Reduce the following sentences into logical form and convert the same.
(1) Only students are intelligent.
(1) All that glitters 1s not gold.

fArare aerelin wFiRw e wier wie ¢ I eltR wweT T4
(i) I geaR 3|
(i) 5bF AL Gl 74|
o= TS e T BTSN 11+ ST T |
(i) faemffes 9 gigam o |
(i) | TP G B |
(c) Why only three intersecting circles are required in Venn diagram to determine
the validity or invalidity of an argument?

confboaa AR @i e taael A wtawet i o ke Rl R qoaw
e (2 ?
¥ Y@REEr ader awar a1 e uRe AT f6T Paer dFEer ufeees
HHATH AGTD B9 7
(d) What do you mean by Copula? What is the function of Copula?
HAGE FA0S Gl 7 (@R 9 TGP P P 2
Ao W b GHAED ? AT PR P & 2
(¢) Give the definition of quality and quantity of a categorical proposition.
a5 fomrers avra ofdawid @ @ & 78|
e HUEH) RER AT AT TR e |

2076 1

3x4=12
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(f) What do you mean by distribution of terms? Do you think that all the terms of
all categorical propositions are distributed?
SITRR IS IS B @i ¢ g B e @9 Faer avaefem e sref@g a1y ?

TE-RITROT WIS 3 FHAES 2 B HIFD HUEHD! T T8 fAdRa 8 7 A1 ?

SECTION-II / faett-4 / @ue-a

2. Answer any four questions from the following: 6x4 =24

RS - s1afd ervnm Tea we:
P TRELT FHP! IR RRN;

(a) Use truth-table to determine the following statements whether tautology, self
contradictory or contingent.

TN NS et T FEERe dwelm Foseel, FesfTel e
wreifee! faefa <.
T IR HERIATERT 30T aaeReware fovd afavrdt sre[r qrare ﬁﬂi'wr
THEN |
® @-q9-(@vr)
W (p=~q)=(p=9

(b) Determine the validity or invalidity of the following arguments by syllogistic

rules:
(i) All happy person are simple. All simple person are innocent. So, happy

person are innocent.

(1) EAE-I

TR FEsEe e foefm el 3 sitare! e @)

(i) = 7 I 27 77T Fee el e Fedia ) o e 52 i fod

(ii) EAE-I

WWWWWMWWWW

(i) & Gt A ARel B | 6 AR A8 Rl B | el et i ey o g

(ii) EAE-L ‘
(c) Distinguish between good analogy and bad analogy.

% Tomgfe @ eI TANfEs q sl )

T TG 3T ARHT WG ATSHn! fre=rerr Q@m:ﬁﬁ-\x{
(d) Explain the ‘problems of induction’,

SICATZ, SRR TP w11

g=ea2aT (Induction) FRTEH R TN |

(e) Explain in brief, the fallacy of equivocation and the falla B
example. ¢y of illicit mingy with i
:

3+3

mmmwmamwﬂm@wmmmw

2076 2
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() Explain
contrary and contradictory opposition of proposition with example.

::arw R R Reaifer e w41
T R e s amer e |

SECTION-III / faets-ot / @us-T

3
Answer any fwo questions from the following;

- 76 eioam Bew wie:
T ST Y S R

(a) Distinguish between inductive arguments and deductive arguments.
LI & SRR IR S A Sisal 39
SSTERURIES SFaRIE 3 SRIe Ao e Saree |

(b) Use truth-table to determine the validity or invalidity of the following arguments.

e el taaet st wtae! e s ey Fad 91

fgTa! Tehewa! duar aT srdvar st Seg-aRofie) s RN -

W) poq/p>(p-9

Gy p>ge, por l.por

(in) (AvB)>C
C>(4AvB) /.. A-B R

(iv) M >(N > O0) S
Po(NoM) /:.ODP

(c) Test the validity or invalidity of the following arguments by using Venn
diagram.
() AIO-I
(i) AEI-2*
(iii) Kamal deserve the prize as he is brave.
(iv) The wise men are good. Therefore, some ignorant people are wise,

because some ignorant people are good.
cowfEran e e Jeefm el Gl JHIR 41
(i) AIO-I

(i) AEI-2
(iii) Wmmmmcﬂﬂwﬂmﬁh
(iv) ﬁmm@mfﬁi’ﬂﬁwx@’ﬁtﬁwmﬁﬂﬁﬁ,wmmw

gfe el
m.mmmmmammmqmm@q_

(i) AIO-
(i) ~AEI-2 |

?1}; Was'm ;ﬂﬁ Al Ry PE FFHES P& T, ffs e
v

sees E Eo !

2076
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(d) What is existential import of propositions? Do all sta

2076

ndard form of Categorical

propositions have existential import? weod AT
mwmﬂmw?ﬂwﬁwfﬁnﬁnﬂm“ﬁ"?”

e
mmmtﬁ?awmmﬁﬁwmﬁ?

X,

Ry
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UNIVERSITY OF NORTH BENGAL
B.A. Minor 2nd Semester Examination, 2024

UPHIMIN10001-PHILOSOPHY

WESTERN LOGIC

Time Allotted: 2 Hours 30 Minutes Full Marks: 60

The figures in the margin indicate full marks.

SECTION-1/ Rett-< / @vs-&
1. Answer any five of the following:
FefeiRe - fi5fF avea Teawes
ﬁﬁﬁmmﬁm:
(a) Transform the following statements into ideal form of Propositions: 1+1
(i) Only childrens are happy.
(ii) Students are intelligent.
e A eflTe v weieis 4
() @<emng FreaiR 3
(i) Ded = I
RavET AFIEHATE AP ST REd TN :
(i) BRBRY I Gl 67
(i) fremeffes gfEmm &
(b) How can we determine the figure of an argument? : 2
sl el it 3 e fadiad i 2
e s Y ey ey FreRor T Wt 2
(c) What do you mean by Existential Import? 5
ST Blerd TS 1 QR 2
TR SR ARt e & D ?
(d) What is the role of Truth-value operator in Truth-Function? 2
Ao 0 -4 el g 2
e TRIAT G-l R & 8 ?

(e) If A, B, C are true and X, Y, Z are false,

propositional form:
IR A, B,CTO ek X, Y, Z frept wiace forafefe Rt orpEy R w2
afz A, B 3 C ¥4 B, Sy X, Y fY Z e B W, T S wuet e

ifer TR

2x5=10

then test the truth-value of the following 2

[(A-B)>Cl=[XVvY)>Z]
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(f) Why do we draw three interconnecting circles in Venn-diagram?
(SHbGE St Rowf #Rreia i 7@ ww #f 74 ?
; R gt Yo YT REHT AT SRR Gdhees Aot 7

(2) When is an argument invalid?
= P TR ?
TP Pt FAY §E ?
(h) What do you mean by Inductive Leap?
WAL A w7 [ @A 9
IRIE BT 4D F 8 ?

SECTION-II / [{eni-2 / @ve-a

2. Answer any six of the following:
forleie @-oF &6 e Seawies

7 T D! SR ey

(a) Distinguish between Deductive and Inductive argument.
SRR SRR AR e w0 #Ad F9
IRIE AT 37aRE TP AP ~Talt *FTITEI |

5x6 =30

(b) What do you mean by distribution of terms? Mention which terms are distributed 2+11+1 -

- of the following propositions:
(i) None but Scientists are Mathematician.
(ii) Few flowers are fragrant.
sigwa FIPISt TS ) @RI 9 RS wAefR @ 2R 3175 ©f 1
(i) @<emE ReaR faes)
(i) Rz =Pl
TR WIY 3 JFIES 2 AT HSIHEe 1 TSE [aRa 2
(i) Pt eI W TS TSt &,
(ii) & Feress G- B

(c) What do you mean by contrary and sub-contrary opposition of proposition?

Explain with examples.

Bz wEAns Rede ¢ wfla-Rwidre Reaifds A 4

o mw—mmﬁmmqﬁﬁ*ﬁ?mwml
(d) Explain Fallacy of Illicit Major and Minor terms.

Ay iKY G AR YY1 A

ST TR S Ty ETEEI Il TR
(e) Test the validity of the following arguments with the help of syllogistic rules

(i) AOO — Third Figure

(ii) Ram is mortal, because he is a man.

ﬁmﬂwmﬁwmﬁvaﬁﬁ@@w{ﬁamﬁmwz
(i) AOO — TOH WRE
(ii) AT TR, PR G AL

2%+2%
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e Prarrent wwamae amer ey ey e T RN
@ AOO — i agfy
(ii) X7 Rorefier & ey 3 TfRRT Y

( Use Truth-Table method to determine the following statement forms as  21+271
Tautology, self contradictory or contingent:

Wmmmﬁamﬁ@wz
SUEHT R TRy
O po>@>p
i) pveop

(g) Critically discuss the Problem of Induction. 3
SR SR 911 J519 it 791
TR T AT ST BAT TR |

(h) What is enthymeme? What are the different orders of enthymeme? 2+3
mﬁmmmam?mﬁ@wﬁ%awﬁﬁﬂ?
Mqﬁﬂ%a?qﬁuﬁwﬁrﬁmmwﬁﬁml

SECTION-III / -5 ) @us-T

x4 Answer any fwo of the following: 10x2 =20
FefRe a-oim 76 avim Tea wes
T 5% e IR REEN:
(a) What is Proposition? Briefly explain the classification of proposition on the basis 2+8

of quality, quantity and both quality and quantity.
A B 2 @, AT GR @<l @ AR S DT ENRS R s = |
“HicrsTar & &1 ? TR, 31 S TURR 31 =1 g3 SMaRAT Uiy anffasor wifamy
HYHT AR TR |
(b) Use Truth-Table to determine the validity and invalidity of the following 5+5
arguments:
FEARN Aafoa A FEfs Ffeafm tare g witge ffa wa:
feguar adewa! dear arerar YT ST Fed-ARuPT SN THeRY
(i po(pvae
~(pvq/..~p
(i) po(g>1)
~q/por
(c) Test the validity of the following arguments through Venn-diagram: 545
(i) AII— First Figure :
(ii) All Philosophers are wise. Some illiterates are not wise. So, some illiterates
are Philosophers.

ceHfoeEa Ry e e m it Rom w2
(i) All — &% FRE
(i) o1 7T o WM G @ @ SFEFS 71 W TR @ @ e gy
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A T-XRATRAPY TERITRIRT aTeranT e et ayera arrerat fovafor e | {
(i) ATl — wrerT arrgpfy

(ii) W PR ST B | e arfRifRreres S fETe| B, el et SRIED
IRifA®ES 59 |
(d) What is analogical argument? Explain with examples.
T Y B 9 Brrgaeni WA 9
WIS b & 8 ? IR0 Wik et TN |
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